ALLEN&HEATH

WARNING - HIGH VOLTAGES

Power Supply Unit (PSU) work should only
be carried out by qualified personnel.

We recommend that you use an approved Allen & Heath
service centre for all power supply work.

Please contact your local Allen & Heath distributor for more details.

hitp://www.allen-heath.com/




DC POWER CABLE

REFER TO DRAWINGS:
D283 & D207 FOR DETAIL %T

CHASSIS EARTH ARRANGEMENT

M3 NYLOK NUT (AB0102)

CHASSIS EARTH CRIMP (11) (AL34
M3 SHAKEPROOF WASHER (ABO24

149)
£ 4)

RECTIFIER FIXED TO
HEAT SINK BRACKET

WITH M3xl6mm

SCREW

(ABOO79> & M3 NUT

LOCK (ABO102>

REGULATORS FIXED TO HEAT SINK BRACKET

H M3xlemm PAN POZI B
NUT LOCK (ABO102> & INSULATING KIT (AADSES3)

SCREW (AB0O078)

AC MAINS SOCKET WIRING (AL8105)

18cm to switch

“(10) from transformer (3)

RD (220V)
ON/YEL 24/0.2 — from transformer (5)
to chassis post (11) 13cm
e BN (230V)
/ from transformer (6)
q 13cm
E &y~
@ PK 16/0.2
) from switch (8)
Y 16/0.2 _4 17cm
to switch (9) - L ,)% K\
18cm / \ GY (100V) @)
from transformer (2
BN 16/0.2 BK (120V) 13cm 13cm

USE INSULATED CRIMPS (AL3068)

(e}
TO EARTH STUD - 1 BLUE
24/02 Gn/Yel = S S S P S | P S S - L5 rEY
(AH0348) |
—3 BLACK
1
Gn/Ye @ o) b 4 WHITE
2
. 5RED
— %DRANGE 6 BROWN
P9,
CREEN 7 GN/YEL
ovA(@ RANGE
e | VIOLET Q Q
YELLOW D w
O O
BLUE A PINK (8> CHASSIS EARTH ARRANGEMENT
PCB MOUNTING SCREW YELLOW < BROWN (10>
MAxSmm (ABO261) M3 NYLOK NUT <AB0102)
- EARTH CRIMPS (7, 12) (AL3449)
M3 SHAKEPRODOF WASHER (ABO24#)
SWITCH
(®) %’ CRIMP RECEPTACLE INSULATED (ALO38D
ISSUE | REVISION BY DATE

ORIGIN

IMcB 19/1/96

WIRING CHANGES FOR
NEW IEC INLET

IMcB 19/3/99

STANDARD NOTES

ALL DIMENSIONS IN mm
DO NOT SCALE DRAWING

NOTES

DRAWING TITLE

REFER TO DRAWING No: D283 FOR PCB WIRING AND COMPONENT LAYDJTQPSg
REFER TO DRAWING No: D207 FOR POWER SUPPLY CIRCUIT DIAGRAM.

ASSEMBLY No:

POWER SUPPLY WIRIN
000-8¢26

K
Pl

Az&m :
A

LLEN & HEATH
ERNICK INDUSTRIAL ESTATE,
ENRYN, CORNWALL. TR10 SLU
EL: 01326 372070
AX: 01326 377097

DRAWING No:

MO00-826

ISSUE

c




TO EARTH STUD
24/02 Gn/Yel

2 | ALTERATIONS TO HEAT SINK
BRACKET & PCB FIXINGS.

McB 7-6-94

3 | PCB UPISSUED.O

IMcB 23-6-94

ALL FERRITE BEADS AXIAL TYPE

ALL LINKS ARE TC WIRE.

ALL RESISTORS ARE SX 1/4W UNLESS OTHERWISE SPECIFIED.
ELECTROLYTIC CAPACITORS ARE SFECIFIED IN uF/VOLTS.

a
SCREEN @) O O O
Gn/Yel 1 T7°Pl B4 R9 o O - @ O
mm ” c20 7815 7815 7915 7915 CBU4
FBL & =
\ P6 i S [T T R T Tica [ Tca 4 [T Tica BRI \
D T — Sk o - 2
= s Ds} c6 Cl e 08 6 S 100n % | ORANGE
EARTH cla PCB No, AGO333 — — 1 b7 = =)
GREEN 103 @ 2 152 = @ | ORANGE FROM
/ RS 04/ oy / Soa VIOLET | TRANSFORMER
/ 10.000/35 —
e R &= %3 é + el &3 ﬁ‘% t Fo
i[% 1000/100 [|38 B8 2 el feceny=
=] D4 \ LK1
- 1 —|
P; Dl ICS DIO E 0/3%] P4 1:13<§\ E;D%D L;@m
4 ) +\/ cz 10/3! n
TPP c1 T8 ALLEN & HEATH RPS9 PCB T“\/ o 7 OvA_© REID
RED BLUE
YELLOV
\ —
CABLE 4 CORE SCREEN
~FPS9 POWER SUPPLY PCE AGOS3S ISSUE 4
ISi\UE ZE?S;DN 1}:»13 17172;4 NOTES DRAVING TITLE ALLEN ALLEN & HEATH LTD.
RO veamesa| - DIDDES ARE NG00 RPS9 POWER SUPPLY | Penerw, coRwaL Tio aLu.

PCB ASSEMBLY HEATH

TEL . 0326 372070
FAaX. 0326 377097

TRAVING No.

T 000327

D88 3 ISSUE 3




(S}

1
]
SCREEN s1 O O O O
P19 FB4RS Q
caq
FBI1
P& ] y || |1c1 Pler— || |1ce | | |1c3 o | | |1c4 BRL
ﬂ ] - ce — ~ ~ -+
< > —7 B Cle C D3 o 78 - E
EARTH iz —_F c3 ‘ — 17 Cll 7Bz
55 PCB No: AGO333 P
P30 ] ISSUE 4 D13 1+
e O L
R2 R4| RS, OV@
] . ¥
ClOR 41 IrSE
——O
DAl LK1
D GER Q | | QD LEDI
5 C13 cs
=N =L R® Are 213
PP 1S Cis ALLEN & HEATH rpss pcs — V C17 OvA

ALLEN & HEATH Teli0326 372070 RPS9 PCB ARTWORK No: Fw04eD ISSUE 4 BY/DATE: IMcB 28/6/94



N T N/ TN
DANGER HIGH VOLTAGE | r 7
|
DISCONNECT POWER BEFORE REMOVING COVER } K
| REFER SERVICE WORK TO QUALIFIED SERVICE PERSONNEL ONLY | D4 1N4002 ‘
} | GREEN/YEL
| ce }
I IN[7g15]0UT RS o0 1
. ‘ L 0.1 Y] !
} GND 0.2PR ' 22R |
25w
T T T T T T T T T e e e - Ic1 }
|
| INT7g15]0UT R4 +15V J\ RED
t |
GND 2.5A P2
SHD»SSW[IJRGJ FOR i gesn }
£ g AMDS19 } D6 DS 37 }
[EC POWER INLET WITH
>| FUSED VOLTAGE SELECTDR 240 } 3R,<83 (] = cig Lct IN4002 ] IN4002 3831 L c4 L£C7 & ci2 }
5 AL810S ORANGE| FB2 10,000/35] 0.1 0.1 a1 10/35 }
:L.E 18.5/P7 D2 XZ Dl 2z |
|
L | a1 1N4002| 1N4002 }
N L o Lecn FB4 ov|  GREEN
T. T VIOLET, P8 0.1 iPS
|
e ! D7 D8 ‘ <
50/60 Hz 18.5! pg FB3 . | o IN4002 | 1N4002 - . . } ;
z - 417 = = = =C8 &, 13
L > o ORANGE] A Tiw.ooo/35 01 o b pig ©.1 To1 0.1 T 10/35 } z
a g AC MAINS FUSE RATING | | s
t ) / 100-120V =T3.15A 20mm | 1N4002‘ IN4002 | =
220-240V =TL0A 20mm | | B
! GND R6 -15V 1 pLuE
7915 L
o SO io POWER SWITCH } IN ouT 0.22R 254a 174 | >
ALOS87 | o 25w } ~| |
‘ |
I GND R7 I
} 7915 |
N ouT 0.22R |
L |
77 | 1c4 25w |
I | L ——
‘ ‘ DC 0V % +15V
| pE] |
| I\ | 274
- } 1N4002 | -5V 1 =P )48V
| |
} | XLR
r I D10 } AL0049
! K |
| D3 IN4002 PHANTOM POWER \
| 1N4002 cs }
o } ]iﬂl IN ouT +48V | YELLOW
‘ i é GND ‘ % 0.1A iPs
} S e cis =63 SR ok 542 | DC CABLE TO CONSOLE
| T 1000100 1000/100 0.1 N4002 Ri : 47763 !
L | |
| = |
| E R2 |
| 15K |
| |
. | |
Lo J
PCB No: AGD333 Issue 4
A B c D = F G H
ISS REVISTON BY DATE CAPACITORS ARE  MICROFARAD/VOLTS UNIT TITLE MANUFACTURED IN ENGLAND BY
P1 |REDRAWN FROMDI9E ISS.2| IMcB 19-1-93 RESISTORS ARE 1/4W 5% UNLESS OTHERWISE MARKED RPSS POWER SUPPLY.
P2 |CIRCUIT MODS IMcB14-7-93 1C1,2,3,4 MOUNTED ON HEATSINK WITH INSULATING WASHERS ALLEN & HEATH
1 |PRODUCTION IMcB  12-4-94 CLIP-ON HEATSINK ON ICS DRAWING TITLE
2 |ISSUE 4 PCB IMCB29-6-94 BRIDGE RECTIFIER BOLTED ONTO HEAT SINK BRACKET
3 |MAINS SWITCH ADDED IMCB 4-1-95 CIRCUIT DIAGRAM q
4 |MAINS INLET IEC CHANGEDDWD 22-3-99 DRAWING No. Da O 7 ISSUE




